Quantitation Report (QT Reviewed)

Data Path : Z:\pestpcbsrv\HPCHEM1\ECD_D\Data\PD043021\
Data File : PD@62653.D
Signal(s) : Signal #1: ECD1A.ch Signal #2: ECD2B.ch

Acq On : 30 Apr 2021 20:22

Operator : AR\AJ

Sample : M2129-01

Misc :

ALS vial : 44  Sample Multiplier: 1 Manual Integrations

APPROVED

Integration File signal 1: autointl.e Ankita
Integration File signal 2: autoint2.e
Quant Time: Apr 30 23:25:24 2021

Quant Method : Z:\pestpcbsrv\HPCHEM1\ECD_D\Method\PD@42921CLP.M
Quant Title : GC Extractables

QLast Update : Fri Apr 30 02:49:51 2021

Response via : Initial Calibration

Integrator: ChemStation

Volume Inj. 1l
Signal #1 Phase : ZB-MR2 Signal #2 Phase: ZB-MR1
Signal #1 Info : 30M x ©.32mm x0.2 Signal #2 Info : 30M x ©.32mm x ©.50pm

Compound RT#1 RT#2 Resp#l Resp#2 ng/ml ng/ml

System Monitoring Compounds

1) SA Tetrachlo... 3.441 3.972 12969317 145.3E6 13.546 11.964m

27) SA Decachlor... 8.201 9.033 16037554 213.3E6 14.941 19.545m#
Target Compounds

3) MA gamma-BHC... 4.163 4.643 1248833 16471615 0.935m 0.953m

8) B Heptachlo... 5.152 5.858 3279315 15952667 2.676 0.995 #

16) A 4,4'-DDD 6.121 6.793 1526221 16225653 1.533m 1.305m

(f)=RT Delta > 1/2 Window (#)=Amounts differ by > 25% (m)=manual int.
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Quantitation Report (QT Reviewed)

Data Path : Z:\pestpcbsrv\HPCHEM1\ECD_D\Data\PD043021\
Data File : PD@62653.D
Signal(s) : Signal #1: ECD1A.ch Signal #2: ECD2B.ch

Acq On : 30 Apr 2021 20:22
Operator : AR\AJ

Sample : M2129-01

Misc :

ALS Vial : 44  Sample Multiplier: 1

Integration File signal 1: autointl.e

Integration File signal 2: autoint2.e

Quant Time: Apr 30 23:25:24 2021

Quant Method : Z:\pestpcbsrv\HPCHEM1\ECD_D\Method\PD©42921CLP.M
Quant Title : GC Extractables

QLast Update : Fri Apr 30 02:49:51 2021

Response via : Initial Calibration

Integrator: ChemStation

Volume Inj. :1pl
Signal #1 Phase : ZB-MR2 Signal #2 Phase: ZB-MR1
Signal #1 Info : 30M x ©.32mm x0.2 Signal #2 Info : 360M x ©.32mm x ©.50pm
Response_ Signal: PD062653.D\ECD1A.ch
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Response_ Signal: PD062653.D\ECD2B.ch
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